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[Jx, Jy] = iJz [Jy,Jz] = iJx [Jy, Jx] = iJy (1.82)
D00000000000000000000000(1.82) 000

A2 4 A2 A A2 A

T2 Jx] = [T ] =T, s =0 (1.83)
0000000000000 0000000000000

A ~

[Ja, J,) = —iJ. [y, J.] = =i, (., Ja) = —id, (1.84)

>

I =10 ) =1 =0 (1.85)

(1.82) 0000000000000 0O0ODO0O00OOOOO0D0OOOOO0ODOOOOO
O0000000ooooooooo (L79)0(1.790(1.80) D0 0O0DODOOOOOOO
O00000000(1.82) 00000000 ¢0 xOOOODODDOODOOOOOODODOOO
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gbbogbogbbogbobbobuodobboobuoobbodgboobobuooboo
gobobodg

[Jp, J,) =0 (1.86)

gobbbuoooobbbooogoobooooboboboooon

[Jx,Pxy] =0 [Jx, Py, = iPy, [Jx, Py,] = —iDy, (1.87)
[Jy, By = —iDy, [Jy, Py, =0 [Jy, ®z,] = i®x, (1.88)
[Jz, Bx,] = iPy, [Jz, By, = —idx, [Jz,®z,] =0 (1.89)
[Juy @py] = 0 [j;,¢Fy]::—¢¢Fe [j;7®F%]::i¢P@ (1.90)
[y, Pry] = iDp. [J,, ®ry] =0 [Ty, ©Fs] = —i®p, (1.91)
[J., ] = —iPp, [, ®py] = iPp, [J., ®p.] =0 (1.92)

gbbodbboobdbboobobooobbuoobobuoobbuoooobboobb
goobobooon
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20 UO4O0obudood

gogdggoobooobbbobotbddddooooooooboboooboboo j2DjZD
D00 J.0000000000000000

21 DOO0OODOOODOOOOO

000000000000, Jy,;z,000000000000000000

~

Ux,Jv] =iz Uy, Jz) = ijx iz, Jx) =iJy (2.1)

~

0000000000000000000000000000000003(Iy,ly,iz)00
0 (Jx,Jy,J;) 000000000000 (J,,J,J,) 000000000000000
0000000000000D000

00000000000 0000000000000000000(21)0000000
0000000000000 000000000000000000000000000
0oo0o0o0oon

2 A ~
3 =Jx+Iv+I3 (2.2)

goddoooooooooooooodooodoo

N2 A A2 A VRN
DDDDDDDDDDDDD32D52DDDDDDDDDDDDDDDDDDDDDDD
gooodoodoooooooouooooooooooooooooooooood
Oo0ooodooooooooooooooooooooooooooooooooon
Oo00ooooooooOon
goodoon

A, jix] = [A,Jv] = [A,j2] = [4,57] =0 (2.4)

0000000000000 ADDODOOOODOODO0000000000000AD
0000000000000000000000 ADDDOODOODODOO0O0OO000000
D0000000000000000000000000000000000000
00000000004 0},0A0000000000000000000000000
00000 ¢ame 00000000

~2
J w)\,m,a = )\w)\,m,a (25)
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jzw)\,m,a = mw)\,m,a (26)
Ad})\,m,a = Oﬂ/})\,m,a (27)

ooooxXdImbDeO0O0O0OO0O0O0O0OOOODOOODOODOOODOOOOOOMmOaOO
gboogobuogboooboobbboobuoobooobuooboobobooboo
Ooobooooooobooouobob vy, UOoOooooooooOOoOoooooood

/’w)‘7m7a|2d7— = /w;,m,aw)\,m,adT = 1 (28)
O
ooooo

A >m? (2.9)

00000000000000000O((22)000

* 2
//w)\,m,a] w)\,m,och

= /¢§7m7aj§<¢>\,m,ad7 + /wim,ajl%w)\,m,adT + /¢;7m7a5%wA,m,adT (210)

0000000000000000000 AODODOODOO0DO00OO00O00000 m20
gbbobgdgbobooobuoobbuoobobbuoobbuoobboobboobb
000 (29 000000000000

goboboboooon

~2 * *
/¢;,m,a3 qﬁ)\,m,adT = /qﬁ)\,m,a/\w&mﬂd'r =A /¢A,m,a¢k,m,ad7— =A (211)
/w;m,aj%w)\,m,adT = /w§\7m,a3Z(jZ¢/\,m,o¢)d7_ = /¢;,m,ajZ(m¢A,m,a)dT

= m/w;7m7a52wk,m,ad7 == m/,l/};k\’m’amw)\,m,adT == m2 /w;,m,aw)\,m,adT - m2
(2.12)

(210)000 ;2000 j20000000000000000000M00000000
0000000000000000000000000000000000000000
00jy00000000000000000000 ¢ 00 ¢0000

[vixodr = | [ocvar] (2.13)
goooogopooogoo

*

/Qp;,m,ajg(@b)\,m,adT = /ﬂ&,m,an (ijk,m,oc)dT = |:/(.;X¢)\,m,a)*.}x¢/\,m,ad7-

- /(jX¢A,m,a)(jX¢A,m,a)*dT = /|5X¢>\,m,a|2d7— Z 0 (2]—4)
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00000 (2900000000000 A>0000000D0D0OOCDOOO
U
gobbbooobbbbooogbooobobuooooboboan

VI+ax—1
j:iz (2.15)
00000A>0000 j>0000
A=3j(+1) (2.16)

O00000MAD jO0000000000000000000000 ¢me 00000
0 ¥jme 0000000

5 Vi =3+ Dbjma (2.17)

Jz%jma = Mjm.a (2.18)

Ao = a0 (2.19)
000(29) 00

i +1) > m? (2.20)
00oQ

O

000000000 jx+ijy 000DD00ODO jx—ijy 00000000000 DODOO
D0000000000000000000/x +4jy 0 ¥jme 000000 ¥jmi1a O
000000000000jx —4jy O $jme 000000 %m0, 0000000000
O0D000OmO0000000000O00O0000000D0000000000000
000000000000 000000D00000000nOn

¢ = (jx + iy )¥jma (2.21)
0oooo

~2 A2 A A ~ A N2 ~ A L
Jo=3 (Ux +igy)¥jima = Ux +3v)T Vima = Ux +iJy)i(J + 1)Vjma

= §( + DUx +ijy)Pjma = i + 1)¢ (2.22)
A¢ = A(jX + in)wj,m,a = (.}X + in)ij,m,a = (§X + in)awj,m,a
= a(jx + iy )Vjma = ad (2.23)

G20 = Jz20x + i3y Vima = (Gzix +ij27v)Vjm.a
- (3X.;Z + ZjY + ZﬁY.}Z + jX),le)j,m,a - (ﬁX + i;Y)(ijj,m,a + ’ébj,m,a)
= (jx +iJv) (MYjma + Vima) = (x +i3y) (M + 1)jma

= (m+ 1) (jx + iy )jma = (m +1)¢ (2.24)
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(222224) 0006 0000000000000000000000 504000 j,
00000000000000000 j(j+1)0edm+10000000000000
0¢0 ¢;mu.00000000000000000000000O00OC

wj,erl,a = C(jX + i}Y)wj,m,a (225)

0D000c00000000000
0

000 ¢=(jx+ijy)Yjme 00000000000000000000000000O
0000000000000000000000000000000000

(Jx +1Jy)Vjma =0 (2.26)

gobbboooaoboo

(x — ijy) Gx + iy )Wjma =0 (2.27)
0D0o0oO00DOoooono

(G = 7% = J2)ima =0 (2.28)
000

G+ 1) = m® = mtjma = (G —m)(G+m+ 1)jmae =0 (2.29)

Yime 0000000000000000000000000 j=m000 j=-m-1
000000000000000000000000000000000000 m=j+1
D00 m?=(G+1)2=4G+1)+j+1>4(+1)000000000(220) 00000
000000000 j=m00000000 (jx +ijy)¢jme 00000000000
0000000000000 jx —4jy 0000000 (Jx —ijy)¥jme 0000000
O0DD00 m=—j0000000000000000000000O0O

wj,m—l,oz = C,(}X - i.;Y)wj,m,a (230)

0000000000000
0

0000j-m000000000000000000000 j+m0O 000000
0000000000000 00000000000000000000000000
000000000000 0000000j-mO000000000000000000
0000000000000000000000000000000000(2.25) 000
Yima 00 (x+ijy)yme 000 000000000000000000000000
0000 ¢mi1e J00000000000000000 ¢jmue 000000000
D000000000000000000000000000 #me 0000000
D00000000000000000 ¢ misa Yjmida, ... 100000000000
0D00000000000000000000000000000000000000
000000000 j00000000mO0000000O000000000000
000000 j—-mO00000000000000000000O000000000
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gobobogobbtoooobbuooobobood mooobboooooboboo
0000000 (2200000000000000000j—m0O000000000O0OO
gogobobbtdy+mU0 odoooobbbbbuoooooobbbbooooon

gogpbooood

gboogoobgooog

j—m=0,1,2,...

j+m=0,1,2...

gobooboogoon

2i=0,1,2,...

gobbobobbooodgbbbuoooobbbooobbbooaon

m=j,J

gobooog
U

-1,7—-2,...,—7

(2.31)

(2.32)

(2.33)

(2.34)

(2.35)

00000000000 ((22)000000000000000000OO0OOODOOO
0000000000000 0000000((22)00000000000000000
gobbbooobobbooogbooboooobbooooobood

/|C(5X + Z‘jY)wj,m,aFdT = |C|2 /[(jX + in)wj7m,a]*(jX + in)wj,m,adT

= |C|2 /[(jX + i.}Y)wj,m,a]*ijj,m,adT + |C’2i /[(.}X + in)wj,m,a]*jij,m,adT

/ U adx (Jx + 1y )Wjmadr ] + Jef? [ / U o adv (x + 13y )0jm.adT

/ U maUx — ijy) (x + ij’YWj,m,adT]

~

[ * A2 3 ~ *
/djj,m,a(.? - J% - ]Z>¢j,m,ad7]

[ maliG 1) = mlon+ Dl ade|

= 1eP[iG + 1) = mlm + 0| [65 atbimadr]

= |c[*[j(G + 1) = m(m +1)]

18
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gobboogobbbuoooobobooan
1

TGt ) —mimt D)

gobbooooooon

C

(2.37)

Yimira = (Jx +1y)Vim.a (2.38)

Vi +1) —m(m+1)

oo

~

(x + iy Wjma = V3G + 1) —m(m + Dmira (2.39)
000000 (jx —ijy) 000000
A A A A ~2 A A
00 = (x —i3y)(Ux + iy )Vima = (3 — I3 — 32)Vima
=[G +1) —m(m+1)jma (2.40)

00 =[G +1) —m(m+DI"2(jx = ijy)djmi1a (2.41)

gobobooodgboo

Gx = i3y Jsmira = V3G +1) — m(m + Dt ma (2.42)
mUOdO00O000000oOogdg
Gx — i3y ima = i(G +1) —m(m — )by m 10 (2.43)

000 (230)00000000¢ =[j(j+1)—m(m—-1)"/2000000000000
000239000 (243) 0000000 m=000m=—j0000000000
00000000004, 000¢, ;,,,0000000000000000000
0000000000000000000000000000000000

(Jx £ iJy)Vjtja =0 (2.44)
gooooooooooooobobobobooob
O
gooooooooooooooooao
~2 ..
] wj,m,a:](j+1)wj7m7a (245)
J20jma = Mjma (2.46)
ij,m,a = a,ébj,m,a (247)
Gx £ iy ¥ima = i(G +1) — m(m £ 1)) mira (2.48)
1 3
=0,-,1,=-,2,... 2.49
j 727 727 ) ( )
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00000D00000000O)x,jy,j, 000000000000000 (21)000
00000000000 00000000000000000000000000000
000000000000 000D000D0000OD0O0OnO

O

OD00000(245)0(246)0(248) 000000000000 000O00000O(2.43)
D000D000000(245)0(246) 00 (248) 000000 (248) 000000000
D0000000000((R46)00 (24) 00000000000 (2450000000

~2 A A ~ A 1 . A A A
J wj,m,oz = (]% + ‘7?{ + ]%)wj,m,a = J%w]',m,a + -Ux + Z]Y)(]X - ZJY)wj,m,a

5
1.

_'_2(])( - Z]Y)(jX + Z]Y)wjma

- ]me]m a + ]X + ZJY \/J j + 1 - 1)wj,m71,oz

Jx—wyvﬁj+ m(m + 1)Vjmi1.a

~ 1 .. ~ e
zmu%m@+abu+w—mW%JXm+wﬂ%mﬂa

]- . “~ e
+5¢ﬂJ+D—"Wn+UOx—Uﬂ%mH@

= i ma + 545+ 1) = mln = DG+ 1) = m(m = Dime

+;¢ﬂ¢+n—num+1hhu+1y—mww+wwma

SUG+1) =m0 = i+ 506 +1) = m(m+ D}y

= ](] + 1)¢j,m,o¢ (251)

O0000((246) 00 (248) 0000000000045 00000ODODDODODDODOO
goboodggo

= MY ma +

22 QOQOO0OOOOOO

gboobobobboobooboobboobod :T2DjZDDDD J.0ooooo
gbbodbgbbooooboobobobuoobboobbuoobboobboobb
gbdbbodgbobodboboobboooboobooboobobboobboobboabb
goboboooobobood

-1 0 coso 0
Jx = — [smgzﬁag —; < - cos@)} (2.52)




Jy = ! [cos gbﬁ + sin ¢ (8 — cos 98>] (2.53)

i 90 " sinf \ oy 9o
&:1% (2.54)
g, = 1 :sinxaae — (;(:rsl;‘ (035 — cos 951): (2.55)
Jy, = 1 :cos Xaae + lezz (aagb — cos 9;}() (2.56)
J, = iai (2.57)

~92 ~ ~ ~ ~ ~ ~
J =Jix+ s+ =T+ 4 )

1 0 0 1 (o & 0’
=—|—— [sinf— -2 2.
Lmeae <Sm989> + ey <8¢2 + By2 cos@agbaxﬂ (2.58)

gbobbuogobbuogbboodgblsobobbuoobboobbooobbbaon
gooo

[Jx, Jy]| =iJs [Jy, J7] =iJx [Tz, Jx] = iJy (2.59)

T 0 = [T, ] = [T, Js =0 (2.60)
A oA A A Aoa A a2

[*Izv JX] = [']27 JY] = [t]za JZ} = [ zaJ ] =0 (261)

D000D000D002100000000(2.1,23,24) 000000000 Jx,Jy,Jz,
J. ). 00000 5x0v,)27 ., A0000000000000000000000000
000000000000000000000 ¥,y 000000000000

Tk = J(J+ 1), (2.62)
jZ\I’J,M,K = MV ;K (2.63)
jz\I’J,M,K =KV ;uK (2.64)
(Jx £iy)Usari = /T (J +1) = M(M £ 1)U a1 1 (2.65)
ooo
1.3
J=0,5.15.2,. . (2.66)
M=JJ—1,J—-2,.. . —J (2.67)
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KODODOOD 20000000000000000000000000000000
0000000000000000000000000000000000W,,,, (00
00000000000000000 6,¢,x00000000)0000 ¢0 xOOO
000000000 Uy 00000000

Wy mx 2oy Uy (2.68)

(262) 000 (264) 00000 ¢ 0 x0OODODODOODJ. O J,000 J 000
0000000000

T U0k = (T + D)0 (2.69)
jZ\i’J,M,K = K\I]J,M,K (2.70)

0000000V, 0 J 000 J,000000000 J(J+1)000 KOOO
D0000000J, 00000 J,J—1,J—-2,...,—J0000000

K=JJ—-1,J-2...,—J (2.71)

oooooobobooooobD Kobobooooooo MmOobOoboooooo
U
gobboogobbbuoooobobooan

a2

J J(J+1) J=0,11,% ...
Jz M M=JJ—-1,0-2...,—J (2.72)
J, K K=JJ-1,J-2,...,—J
O
godooooopooogoooobooogoooooog
A 10
JzVivmk =~ Vomx = MYk (2.73)
100
A 10
JVinmk = 7 Vomx = KV K (2.74)
10X
0
Oy MW (2.75)
— =3 .
G L IMK JM,K
O e — iKU (2.76)
Gy LMK = JM,K .

gobbobuoooobbbuoooobn

Vi x = Osr(0) exp(iM ) exp(iKx) (2.77)
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ooddoooooooo M=K=JOoOoOoOooond
Uy =0,;,00)exp(iJo)exp(ix)

00(2.65) 000
(Jx +iJy);7 =0

gobbooodabbodd

A , 0 1 0 0
Jx +iJy = exp(i¢) l@@ + e (aX — COSQ@QS)}
goodd
, 0 1 0 0 : ,

exp(i¢) l@@ + P <8X — cos 9%)] ©,..5(0)exp(iJo)exp(iJx) =0
d@JJJ 1 B

a0 +SinQ(J_JCOSQ>®J’J’J_O

1 dOj;; _Jl—COSH . —sind
Osss di sinf " 1+4cosf
d

d
25 W10s] = T 5|1+ cos 0|
In[®,,,]=Jn|l+cosb| +C
O, = Nyj(1+cosf)’
N;;;, 000000

/|\IJJ7J7J|2d7— =1

(2.78)

(2.79)

(2.80)

(2.81)

(2.82)

(2.83)

(2.84)

(2.85)

(2.86)

(2.87)

0000000000000 0D00D0D0Db0Db0ObO dr =sinfdidedy OO DO OO

O00<0<7n00<o<2r00<x <27 0DO0OO

I= / / / 5,5, sin 0dfddy
- / / / N (1 + cos 0) exp(iJ @) exp(iJx)|? sin §d0dedy
= |NJ,J7J|2///(1 +cos0)?7 - 1-1-sinfdfdedy
™ 27 21
- |NJ,J,J|2/ (1+cos@)2‘]sin9d9/ 1d¢/ 1dy
0 0 0

= 47*|Ny 14| / (1 + cos 6)*/ sin §df
0

23
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t=14+cosfldt=—sinfdd OOODOOOOOOO

£27+1 0_ {1247
2J+1|, 2J+1

0
I = _4W2|NJ’J’J|2A t2jdt = _47T2|NJ7J7J|2 [ |NJ7J7J|2 (289)

oo

2J+11
Njyjs= /a2 97 (2.90)

gbooboobobbol/I=1M000

1 /2 +1
Vg = =1/ ;(1 + cos 0)” exp(iJ¢) exp(iJx) (2.91)
" 2J 2
00000000 U, 0000000
U
00000V, 00000 (2.65) 000
(Jx —idy)Wnrx = /T (J +1) = M(M — 1) W51 5 (2.92)
oo
1 .
\I}(LM—LK = (JX —ZJy>\IfJ’M,K (293)
V(T +M)(J — M +1)
K=JUOUOOnO
| .
\Ilij,LJ = (JX —ZJY)\IJLLM’J (294)
VU +M)(J—M+1)
M=JOOOO
1.
\I/JJ_LJ = 7(JX —ij)\I/J,JJ (295)
(2J)(1)
(290400000 M=J-10000
1 .
Vyjoy=—F——--—I~Ix—iJy)Vss1J
(2J —1)(2)
1 PO
= (Jx =iy ) W (2.96)

V(@27) (2] - 1)(1)(2)

gobbooooobbodad
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Vg = 1 (jX _ ijy)JfM\I]JJJ
eI (J+ M+ 1)(1)(2) - (] — M) J,

J+an 12 A
= [(2})'(]—%\4)'] (Jx—ljy)J M\IIJ”LJ (297)
004 Yy, O M=JJ-1,...,-J00000000000(2.65) 00000000

00 (293)0(294) 0000000000000 00O00OOO0OO0OOOOOOOOOOO
O v,y 00000000000 00000O0O0C0O0ODOO0

/ / / U0y |2 sin §dOddy = 1 (2.98)

0
0000V, 00000000000000000 U,,,0000 ¢0 yOOOO
00000000 ¥,y,, 000 [(268) 00010

Wy, dne ‘TJJ,M,J (2.99)
(2.91) OO
i’J,J,J =V (2.100)

O000000000(262264) 0000000

~2
J \IJJ7M7J:J(J+1)\I/J’M7J (2101)
JzViarg = MU0 (2.102)
jZ‘PJ,M,J = JVnmg (2.103)

U000 o0 xOOOOUODODOO

TV =JT+1)T 0, (2.104)
JU = MU, (2.105)
JzUsnes = JU s (2.106)

D0000 [¢0 x0ODOOODOOD J, 0 J,00J,0 J, 0000(2.54)0(2.57) O
00j0000o0o0on \I/J,MJDJQDjZDjzDDDDDDDDDDDDDDDDDDDD
0J’0000 o J(J+1)0J, 00000 JOJ, 00000 MOOOOOOO U,y
0V, 000000000000000

\IIJ7J7M = const \I~’J7M7J (2107)

(298) 00000 ¢0 yOOOODODOOOODOO
/ / / B 5.005] sin Odfdyde = 1 (2.108)
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0Dov,,, 000000000000000000 (2107) 00 U, 000000
000000000000 const 0000000000000 0000000000
(-1)"M 000 [D0000000(2100)0000000]00000

— J—Mj _ J—M (J + M)! vz F M
Vg = (=1)""" Wy =(-1) [(2J)!(J —~ M)'] (Jx —idy)" M,
1/2
12 )
N L2§i8}%?byﬂ (ot id,) "W (2.100)

000Jxy 000 Jy0.Jy00 Jy 0000 ¢0 x00OOOOO000000000
0 —J,00 J,0000 [(2.52)0(2.53)0(2.55)0(2.56) 000)0M 0O KOOOOOO

J+EN 1V L
( )y] (Jo +idy) 55, (2.110)

QMK:[@ﬂKJ—K

000 V,,, 0000000

0

00000000 Uy, 00000000000000 U,y 000000 (293)0
0000000000000000000000000000

(J + M)!
QN =M

1/2
wlchzl V] (Jx —idy)" ™MW, K

_ 1 [(J+M)!(J+K)!

1/2
7 -3 NJ-M /7 L FNJ—K
- U
(NM(J—MMU—KA (Jx =iy ) (Je 0 dy) W

11 (2041 + M) (T KN
_2mwyl8ﬂ U—AQMJ—K”
x(Jx —idy)? ™M (T, +iJ,) 751 + cos0)” exp(iJ¢) exp(iT ) (2.111)

Oboobd o0 xyOQOOoooooOO

11 FJ+1@+AQNJ+KwT”

o= =
P95 Q)| 8x2 (J = M)I(J — K)!

X (=Jp —iJ,)) ™M (=Jx +iJy)" 5 (1 + cos 0)” exp(iJ$) exp(iJx)

11 [2J+1(J+M)!(J+K)!

1/2
=2 20) | 8 @]—]WM(J——KUJ (=)=

X (Jx —idy) K (Jp + i) M (1 4 cos 0)” exp(iJ¢) exp(iJ )
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= (1) M=) e = (D)MW ey (2.112)

DO000O000O000 (Jx —iy) X0 (J,+4J,) "M OOD0ODODOO0ODO0OODOOO0OO
D0000000000000(1.86) 0000000

0 (2112)000%, 0 ¥,y 00000000000000000O0O0000 ¢
0y000000000000000000000 MO KOOOOOOOODOOOOO
000000000000000 KOOODODOOO0OO0O0O0000000000000
D00000000(265) 00000 ¢0 xO0OOOODOOOO

(= o £ i d) (D)MW e nr = /T (J + 1) = M(M £ 1) (=)™ K50 e 00 (2.113)
000

(o F i) Wspenr = /T (T +1) = M(M £ 1)U e (2.114)
MO KOOOOOOOOO
(o Fidy) Wi = JJ(J +1) = K(K £ 1) 0 5001 (2.115)

nooo(J,—4J,) 000 (J,+4J,) 00000 J, 00000000 KOOOOOO
0000000000000000000000

O

Dooo J,M,K

0

D000 J,M,KOOOOOOODOO0O0O0O000000000000001.4000
000J;00000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000 000000000000000000000000000
000000000000 000000000000000000000000000
oooooo
D0000000000000003600000000000000000000000
D0000000000036000000000000000000000000W,,x
0000000000000 000000000000000000000000000
0 JOOODODOODOMO KOODODOOOOODOOOOJOODOOODOOOMO KOO
D0000000V, s 000000 (-10)00 (00000¢ 000 xO 2000
0000000000000 O00000000000000 ¥,y 000000
0000000000000 0000000000000
D0000000000004320M0000000000000000000000
D0000000000000000000000000000000003600000
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0OMOMOODDDOODOOOOOOOODOO0D(213) 0000000000

. 2 + 1712 , , o .
Wi = || exp(=iM) exp(—iKx)(J. K| expli jv)| . M)
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— (o, AT Do, 1) (, 41 [UD g, jo) (—1y540 § 1 T2 3.158
1 1 29 J2 . .
Jo 1k
0
0 Uy000000O0O0O0ooooonO
X(k,q) =T(k,q)U(0,0) (3.159)

DDDD(3.156)DDDDD kQ:ODklszjQ:jQDDDD
(o, 51| XPev, ) = 61,51 (25 + 1)(25 + 1)(2k + 1)]"/?
J1 J2 )
x{ah, Gl T™ g, 1)y, ol [UD|az, o) § 41 Ja J
E 0 k
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= 85,33 127"+ 1)(25 + 1)(2k + D)]*(aq, 75 |T® e, 1)

g . y
Ji o J2 J
><(2j2+1)1/2(a'2,j2,m2|U(0,O)|a2,j2,m2) jl .j2 ]

k 0 k

= 02,35 127"+ 1)(25 + 1)(2k + 1)(22 + D]l 1TV ||, i)

Ji 7 )2
X <O/27j27 m2|U(07 0)|Oé2,j2, m2><_1)J IRAREN jl j j2
E kE O
= 80,5 (4, ST P [, ji) (ah, ja, ma|U(0,0)|cxa, ja, ma)
x<—1>j+ﬂ+ﬂ'2+w<2j+1><2f+1>{J? ’ f’lj} (3.160)
J n

000U0,00=100000000 X(k,q) =T(k,q 0000

<O/7j/HX(k)HO‘>j> = 6j2,j§5a2,0/2 <O/1>j1HT(k)HO‘1>j1>

g
X(_l)j+ji+j2+k\/(2j + 1)(2j/+ 1) j.l j J2 (3.161)
J n k
O
07000000000 000000
X(k,q) =T(0,0)U(k,q) (3.162)

D000DD0(3.156) 00000 ky =00k =k0j, =5, 0000
(@, 31X P, ) = 65,51 (25" + 1)(25 + 1)(2k + 1)/

gy g
< {a, || T e, 1) (cdy, 51U R |, 2) § g1 o g
0 k k

= 8j,¢ (27" + 1)(2) + 1)(2k + 1)(2j1 + 1))

-/ -/

Ja I N
><<O/1,j1>m1\T(0>0)\0417j1,m1><0/2,j§HU(k)Ha2>j2> J2 7 I
kE k O

= 5j1,j1 (04/1>j1,m1\T(07 0)’@1,j1,m1><0/2:j§“U(k)H042:j2>

><<—1>J"+ﬁ“2*’“¢<2j+1><2jf+1>{].2 ’ ‘;} (3.163)
J J2

o7



00O07(0,00=100000000 X(kq)=U(k,q 0000

(711X O, j) = 610y o (0, JolIU P2, )

jl+j1+j2+k . . jé j/ jl
x(—1) V@i+ s +1)8 "

J J2 k

U
gooorouvoobooobooobooboob

X(0,0) = T(0,0) U(0,0)
gooo
(o, 5", m'|X(0,0)|a, 3, m) = 6; jrOmm 0}, 1055

X <a/17j1> mq|T(0,0)|a1, j1, m1)<0/2,j2, ma|U(0,0)]az, ja, ma)
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(3.164)

(3.165)

(3.166)



40 OO0

4.1 0OO00O0OO0OOOOOO

000000000k 000000O000D 6000000000000 o(k)00 B(k)
gboooogoo

Sralk) = Salk) 8 B0k = — B(K) (4.1)

(3ux + i3y ) alk) = 0 (Bux + i3ey) B(K) = a(k) (4.2)

(3ux — iser) alk) = B(K)  (Sx — idwy) B(K) = 0 (43)

Sak)="ak) 860 =6k (4.4
goooooooono

08 = Ek: N (4.5)

goboooobooobooboobooobooobooboooong Clebsch-Gordan O O
goboooogo

Jj—m+1

+1/2,m —1/2,1/2,1/2|j = — 4.
. . Jj+m-+1
1/2 1/2,1/2,—1/2 =/ 4.
G 1/20m 4 1/2,1/2, =1 /20m) = [T (47)
. : J+m
J
(= 1/2,m+1/2,1/2,=1/2]j,m) = |7 (4.9)
J
0
ogood
U

D000000000D0000000 S =4 +48 0000 SO0000000000
s1=1/20s,=1/200008=100 S=0000000000000000000
O000000000000000 |S,Ms)y0DOOO

29



I1,1) = (1/2,1/2,1/2,1/2|1, Da(1)a(2) = a(1)a(2) (4.10)

11,0) = (1/2,1/2,1/2, —1/2/1,0)a(1)3(2)

F(1/2,-1/2,1/2,1/2[1,008(1)a(2) = ﬁ a(1)B(2) + ﬂ B(1)a(2) (4.11)
2)

11, -1) = (1/2,-1/2,1/2,-1/2]1, -1)3(1)3(2) = 6(1)5 (4.12)

10,0) = (1/2,1/2,1/2,—1/2(0,0)a(1)5(2)

+(1/2,-1/2,1/2,1/2/0,0)5(1)r(2) = \/2@(1)5(2) - \Eﬁ(l)a@) (4.13)

0000000000000 0000000OoOOo0ooooooolL,0 00 1,-1)o00o0o
gooo

Sx —iSy = (81x — id1y) + (S2x — i8oy) (4.14)

01,0000 000D0D0000000O00000D0ooooooooo

11,0) = ﬂ(ﬁx —iSy)[1,1) = ﬂ(ﬁx — iSy)a(1)a(2)

_ \/2[(51)( —is1y)a(D)a(2) + (S2x — 8y )a(D)a(2)]

1

=1/5 P(1)a(2) +a(1)5(2)] (4.15)

1 .
I1,—-1) = \/;(SX —iSy)|1,0) =

{(51x — 181y)[B(1)a(2) + a(1)B(2)] + (S2x — i52y)[B(1)r(2) + (1) 5(2)]}

(Sx —iSy)[B(L)a(2) + a(1)5(2)]

| —

[6(1)B(2) + 6(1)8(2)] = B(1)5(2) (4.16)

N | — N | —

O000000000oDoool,Mg) O0DODOOOODODOOOOOl0,0) 000000
000000000 0PanliD00OO00O0O0DOOODOOO|L, Mgy ODOOOOODODODO
0000,0) 0000000000000 000O0O0O000 D0D0D0D0D0OO0O0OOoO0ooOOo
O00Ms 0000000000000 0O0ODODOODOM.14)00000000000000
gobbbouoooobboooooobod
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0ooo
0
000000000000000000000 Spp=25 +808=8,+3 0000
0000S,0000000000000000000000000000000S,,0
Sp=10 S,=00000000008,=10000085=3/2000000 S=1/2
000000000000 $,=0000008=1/2000000000000000
D00000000000000000000000000S,,=100000000
S,=00000000000000000|8,,5,Ms) 00000000000000
000000000 MsODOOO

11,3/2,3/2) = (1,1,1/2,1/2|3/2,3/2)|1, Da(3) = |1, Da(3)
— a(D)a(2)a(3) (4.17)

gobbooogbbodad

11,3/2,1/2) = \/g(SX —iSy)a(Da(2)a(3)

N \/g [($1x — i51y) + (S1x — i%1y) + (S1x — id1y)]a(1)r(2)(3)

= \[5 Ba@)aB) + /3 a()5)a(3) + 1[5 a)a(2)5E) (4.18)
ooo
1,3/2,-1/2) = f f B(1)a(2)5(3) + ﬁ BARE) (119
1,3/2,-3/2) = B(1)B3(2)5(3) (4.20)
oood

gobboooogoon

11,1/2,1/2) = (1,1,1/2,—1/2|1/2,1/2)|1,1)3(3)

+(1,0,1/2,1/2[1/2,1/2)|1, 0)ex V/|1 1)3 —-v[§|1,0>a(3)

=\ a()a(@)53) [ [2(152) + BOa(@)a)
= /3 a()a@5() - ﬁ a(1)A(2)a(3) - \fé B(ha()a(3) (421)

gobobboogbbobuoooobobod
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|1,1/2,—1/2)

= (Sx —iSy)

2

—\/25(1)5(2)@(3) - \/gﬁ(l)a@)ﬁ(?ﬂ

=VEMDM%M$+¢EMUM%W@—VEWDM%M@

gobboooobboboooon

10,1/2,1/2) = (0,0,1/2,1/2|1/2,1/2)|0,0)a(3) = |0, 0)x(3)

ZVEmmmmmw—VEMUM%MQ

ERN

0,1/2,—1/2) = (Sx — iSy)

1

zVEMDM%M$—VEﬂUMEM$

gobo
U

;MUM%M@—Vgﬂﬂﬂ%d@—VgMDM%M@]

VEMDM%M@—VEMDM%M@]

= 2MUM®M$+VEMUM®M@—VEMUM%M@—VE&DM%W@

= SMDM%MQ+VEMDM%M@—VEMUM%M@—VEMDM%M@

(4.22)

(4.23)

(4.24)

0000000000000000000 MsO0OOOODOOO0O0O000000000
00 (1,2)0(2,3)0(1,3) 0000 [1,3/2,Ms) 0000000000 Pauli 000000
000000(1,2)0(2,3)0(1,3) 0000000000000000000000000

gdododododouououououououoouoooo
(1a2)|171/27MS> = |171/27MS>
(1a2)|0a1/2aM5> :_|O71/27MS>

V3

1 3
(27 3) ‘17 1/27 MS> = _5 ‘17 1/27 MS> + 7 |O7 1/27MS>

V3

1
(27 3) ‘07 1/27 MS> = 7 |17 1/27 MS> + 5 ’07 1/27MS>
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(4.26)

(4.27)

(4.28)



V3

1
(1,3)[1,1/2, Ms) = =3 [1,1/2, Ms) — =37 [0,1/2, M) (4.29)

V3
2
0D0001,1/2,Mg) 000 0,1/2,Ms) 0000000000000 0 Pauli D000
oo oooobobooggooga

1
(1,3)]0,1/2, Ms) = =~ [1,1/2, Ms) + - [0,1/2, Ms) (4.30)

f(ry,re,r3)|1,1/2, Mg) + g(7r1,72,73)]0,1/2, M)

0000000000000000 f(r,7s,73) 00 g(r,me,r;) 0000000000
0000000000000000000000

f(ry,ri,m3) = —f(r1,72,73) (4.31)
9(7'2,7‘1,7'3) = 9("‘1#‘2:"‘3) (4-32)
1 V3
f(ri,rs,re) = 3 f(ri,ra,r3) — 79("“177”2””3) (4.33)
V3 1
g(r1,7rs,72) = Y f(ri,ra,m3) — 59(7“1»”’277“3) (4.34)
1 V3
f(rs,re, 1) = 5 f(ri,re,r3) + 79(”’7“277“3) (4.35)
V3 1
g(rs,ro, 7)) = > f(ri,ro,73) — 59(7“1,7"2,1“3) (4.36)
0J
godooooooogn
O

D00000000000000000000000000000000000 8,3 =3/20
D000S=20 §=100000000000000000S8,=1/2000008=1
0 $=000000000000008=200008=100008=000000
0000000000000, O00000000000000 /Y 00000 Table 4.1
0000000000000
0oo fYooooo

) _ n! (2S5 + 1))

I = a2+ S+ D) (n/2=5)! (4.37)

D0000000000000 6.300000M

D000 (S,Ms) 0000 fY0000000000000000000OfY 000
0D0000000000000000000000000000 §,000000000
0000000000000000 fY 00000000000000 §,00000
0000000000000000000000000000000000000000
00000000000000000000000000
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Table4.1: n000D0000000O0D00O00 f

S=0 D%Dl D%DZ D%DB D%DZL D%DB
n=1 1
2 1 1
3 2 1
4 2 3 1
5 ) 4 1
6 D 9 5 1
7 14 14 6 1
8 14 28 20 7 1
9 42 48 27 8 1
10 42 90 75 35 9 1

4.2 JO0O0OO0OO0OOOOOOOOO

gobboboooobbboooobbboodon

5y _ h? TvEoy Ze? e?
J

C2me & A +Z
j J

j>k

+D &)L+ 8 (4.38)
J

000000000 00000000~ 0000 jO000000000007,0 3
000000 k000000000050 j0000000000000%;0 500
0000000000000000000000000000000000000000
O0D0000D000000000000000000000000000000000
D00000000000000000000D0000AOO0O0DODOOODODOOOOO
0 H,0OOOOOOO

4megr; 4meorj

J
ooo
S=3"5 (4.40)
J

00000X,Y,Z00000000000000A/,08° 01,0805, 0000000
In,L,M,S,Mg) 00000000000n, L, M,,S,Mg) 0000000000000
00000000000000000000041000 M

1

|TL, L, ML,S, MS> = Z|n, L, ML,Y;HS, Mg,i> (441)

0000d|n,L, My,q) 0
Hy|n, L, My, i) = E,|n, L, My, 1) (4.42)
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L’|n, L, My, i) = L(L + 1)|n, L, My, 4) (4.43)

Lz|n, L, Myp,iy = My|n, L, My, i) (4.44)

(Lx £ iLy)[n, L, Mp,i) = \/L(L +1) — My(Mg, £ 1)|n, L, My, £ 1,4) (4.45)

0000000 |S, Ms,i) O

§°|S, Mg, i) = S(S + 1)|S, Ms, ) (4.46)
S48, Mg, i) = Mg|S, Mg, i) (4.47)
(Sx % i8y)[S, Mg, i) = \/S(S + 1) — Ms(Ms £ 1)|S, Mg =+ 1,1) (4.48)

000000000 :00000 |S,Ms,q) 00000000000000O0O0O0O0O0OO
0000 In,L,M,,s) 0000000000000 0OO0ODOO0OOCCCOOOO0OO0O0O00
gobbb41 00000

|n7 L7 S7 J7 MJ71.>

=3"ST(L, My, S, Mg|J, My)|n, L, My, i)|S, Mg, i) (4.49)

My Mg

0J=L+SO000000 ZOOOOOOOOOOOOO

Hyln, L, S, J,M,,i) = En|n, L, S, J, M, i) (4.50)
L, L, S, J, My, i) = L(L + 1)|n, L, S, J, M, i) (4.51)
S°|n, L, S, J,My,i) = S(S +1)|n, L, S, J, My, 4) (4.52)
J’|n, L, S, J,My,i) = J(J +1)|n, L, S, J, My, i) (4.53)
Jzn, L, S, J, My, i) = M;|n, L, S, J, M,,i) (4.54)

(Jx £idy)n, L, S, J, My, i) = /J(J + 1) = My(M; £ 1)|n, L, S, J, My + 1,i)
(4.55)

00
L

‘n7L7 S7 J7 MJ> =
(n)
s

Z‘na La Sa Ja MJ7i>

1
= SN TSUL, My, S, Mg|J, My)|n, L, My, i)|S, Mg, 1)

\/p i My Mg
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1 . .
= —== 2 D (L My, S, Ms|J, My) 3 [n, Ly My, 0)[S, Ms, i)

(2

nn
S
5

L

1
- ZZ<L’ML7S7 MS|J7MJ>|na La ML7S7MS> (456)

n
év) My Ms

gobbboooobbbooodabn
gobooog

lezg(rj)ij'éj (457)

Doooo W, LS, J M, H n LS JM,)00000000000000A 000
O00D00000JOM, 000000000000

0000, L, J My, -8n, L,S,J,M;,4) 000000000000000
oo

. 1 . h
u;(1,0) = &(r;) ljz ui(1, £1) = HFE &(ry) (ljx £ iljy) (4.58)
. 1 .
tj<1, O) = Sjz tj(l, :I:l) = :FE(SJ'X + ZSjy) (459)
0000000 Wigner-Eckart OO 00O 0O0O
(n’, le M},a Z./|u'j<1a Q)|n7 L7 ML> Z)
y L' 1 L
= (~)F ML, L1 ul”||n, L i) , (4.60)
_ML q My
<S,7 Mé, Z'/|tj(17 Q)|S, MSa Z>
' g S 1 S
= (1) Ms (s, | |t)19, 8) (4.61)
-Mg q Mg

(3.158) 00000
(' L', S", J, My, i\E(r;)1; - 3;|n, L, S, J, My, i)

= (', L', S, J, My, 'l - 0 |n, L, S, J, My, )

— i L i . LS DS, i) (= 1)+ +E s J 162
_<n7 7Z||uj an 7Z>< 72Htj H 7Z>( ) S L 1 (6)

oo
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(', L', S, J, My |H'|n,L, S, J, M)

/ L s J
=((n', L', S n,L,S)(—1)5+/+E 4.63
¢(n n,L,S)(-1) {S“} (4.63)
0odd
1
o L, S'm, 1, ) =~ S L [ n, Lyiy(S, 1165711, 4)
s i
(4.64)
O000n=n0L=L0S=5000
(n,L,S,J, M;|L-8n,L,S,J, M)
L S J
= (L||ILML){(S]|SD]|8)(—1)5+7+E (4.65)
S L 1
gdoddodooooooooooooooo
0 =éol-8 (4.66)
goooooooooooooooooao
f _ C(n7L7S7n7L7‘S)
0T (ZIILO|L)(S[[SDI[S)
B 1
FEVL(L+1)(2L + 1)S(S +1)(28 + 1))
XSS n, L[, Lin(S' 6571, 4) (4.67)
i

0 (65 000000006y 000000000000DOO0O
IS 1
(n. L, S, J.My|L - Sln. L, S, J, My) = S [J(J+ 1) = L(L+1) = S(S+ 1)) (4:68)

000000000000000000000000000000000000J=L+S8
gobooboooon

I =(L+8)?=1L"+8+2L-8 (4.69)
oooo

A~ A 1 4 ~ o

1LS=§U{Jf—§] (4.70)

0000000 (468) 00000000000
O000000000000000000 44)000000000O0OOOODODODOOO
gbobgbobobobooboobobobobobobobobobobobobo
godggoobobbbboboobobbbbbbououoddooooouoooooooon
gobbobuogoobbbooobobbbgoooobobogo
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4.3 U0O0O0OOOOOOOO0OOO0OOO0OO

4.3.1 0OU0Q0UOQO00OOOOOOOOODOOOOOn
0000000000000000 $x08/08, 0000000000000

~

S, =®,.5, + Px.Sx + Dy, Sy (4.71)
S, =®,.8, +®y,Sx + Dy, Sy (4.72)
Sy = ®,S; + Px,Sx + Py, Sy (4.73)

00000000000000000000000000000000
S, S,] = iS. [S,, 5] = iS, 5., 5,] =iS, (4.74)
P PP =82+ 824+5=8 (4.75)
00000021 00000000000000000000000000000000O
0000000000000000

8°1S, Ks)m = S(S + 1)|S, Ks)m (4.76)
S.18, Ks)m = Ks|S, Kg)m (4.77)
(S, £ i8,)|S, Ks)m = \/S(S + 1) — Ks(Ks £ 1)|S, Kg £ 1)y (4.78)

O0000 |SKs), 000000 oooooooood

872
1S, Kg)m = (1) MW _pre—is (6, 0, x)|S, Ms)
25 +1 % SIS
872
25 + 1 %:\I,S,MS,KS<97¢7 |S MS ZDMS Kg ¢707X)‘Sa MS> (479)
S

0000Ws wy xs(0,6,x) 0000000000DS, x,(¢,6,x) 0000000000
0ooo |S, M) O

S°1S, Ms) = S(S + 1)|S, M) (4.80)
Sy|S, Ms) = Mg|S, Mg) (4.81)
(Sx £iSy)|S, Ms) = \/S(S +1) — Ms(Ms £1)|S, Mg = 1) (4.82)

0000000000000 0000000004.79) 00 (4.764.78) 0000000
000000 63100000479 0000000ODOOOOOOO0OOO

812
1S, M) = 25+12 Vo ns, ks (0, 0, X)), Ks)m

_’E:l)Mgkg ¢,60,X)"[S, Ks)m (4.83)
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4.3.2 Case (a) 00O Case (b) DOOO

D00000000000000000000000 NOODOOOOOO1.401.502.2
0023000 J000000000000000000000

1 [— sin ¢§0 + :zj (aax — cos 986;)] (4.84)
[cow ML (ax - 9(%)] (4.85)
J%_ii) (4.86)
N.=1 :smxge - oo (5?; - 95’;) (4.87)
Ny = 1 :cos Xé)a@ + 2111;1;( (59925 cos 95;) (4.88)
N, = 151 (4.89)
N° = N2 + N2 4 N2 = N2 4 N2 4 N2
=— Lulleaae (smé’aé;) + 3111129 (88;2 + a@; — 2cos GOZ;XN (4.90)

000000000O0JO0 NOOOODOOD SO00000000000J=N+S80
000000000000

Jx = Nx + Sy Jy = Ny + Sy Jy; =Ny + 8, (4.91)
J, =N, + S, J, =N, +5, J,=N,+8, (4.92)

0D000000000000000000000000000000000000000
000000000000000000000000000000000

0

0 NOOOOOOOOOOOOOOO Uk (@¢,x) 0000000

Ny ke = NN + 1)U ar ko (4.93)
NquN,MN,KN = MNYN My Ky (4.94)
(Nx + iNy) Wy ary iy = \/N(N +1) = My(My £ 1)Wn ary+1,5y (4.95)
Nz‘I’N,MN,KN = KnVUn vy Ky (4.96)
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(Nx + iNy)\DN,MN,KN = \/N(N + 1) — KN<KN F 1)‘IIN7MN,KN3F1 (497)

Uyaykxy 00000000360 000000000000000000000000
000000000000000000 NOMyOKyODOODOOOOODODO

0

0 Unavxy 0 |S,M) 0000000000 JO00000000000000

‘Nv KNJSJ ']7 MJ> = ZZ<N7 MN7S7 MS|J7 MJ>\I]N,MN,KN’57 MS>

My Mg

N S J

My Mg

) U ary kn 1S, Ms)  (4.98)

0000000000000000
N°|N, K, S, J,M;) = N(N +1)|N, Kx, S, J, M) (4.99)
NZ|N7KN757J7MJ>:KN|N7KN757J7MJ> (4100)

(Nx + ZNy)lNa KNasa J7 MJ>

= NN +1) = Kx(Ky F 1IN, Ky F1,5,J, My) (4.101)
S’|IN, Ky, S, J, M) = S(S + 1)|N, Ky, S, J, My) (4.102)
TN, Ky, S, J,M;) = J(J + 1IN, K, S, J, My) (4.103)
J4|IN, K, S, J, M;) = M;|N, Ky, S, J, M) (4.104)

(jX :l:ZjY>|N7 KN757 Jv MJ>

= \JJ(J +1) = My(M; £ 1)|N, Ky, S, J, My + 1) (4.105)

0Oo0D0o0O00O0 NON0S0J 00.J,0000000000000.J.0N,0S8,0
S, 00000000000000000000000000000 Hund O Coupling
case (h) 00000000 O0O0DO0DOODODODOO

0

000 Uy,x,|S Kshw D000000000000000000000000000
00 632000

A2
S Vi, k18 Ks)m = S(S + 1)V a,.x,]S, Ks)m (4.106)

Sty 1,19 Ks)m = Ko Wt 1,19, Ks)m (4.107)

(gx + Z'S’y)\I/J7MJ7KJ|S, Kg>m = \/S(S —+ 1) — KS(KS + 1>\IJJ’MJ’KJ‘S, Kg+ 1>m
(4.108)
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~2
J \IJJvMJvKJ|S7 KS>m - J(J+ 1)\IJJ,MJ,KJ|57 KS>m (4109)

Ty, 19, Ks)m = KW a0, 1S, K (4.110)
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